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TRIG FRACTICS ~ 3

Express in terms of sinx and cosx.
sin(x - 1/6) Examples cos(x + 2.82)
cos(x+ 3% ’ 3.1 = CcOSXCOB2.,82 -~ sginxain2,82
#in(0.91 = x) -%M cosx ( = c080e32) = sinx sin 0,32
cos(x - 2.07) table -/\- -¢95co8x - J3lainx
sin(x + 2,07)

Ang. ¢) 79cosx = JSlasinx
cos(3x) (3x = 2x + x]

d) =.48cosx + .88sinx

sin(4x)

In each case, write the function psinx + (cosx in the form Asin(x+b).
sinx + cosx (A2 = P2+ ng (cosb ,ainb) = (p/&y qfa)]
-sinx + cosx '

=sinx = f3cosx

Betnx + cosx Ange b) b =3W4j ¢) b= LW3
- b 3 O

Given that x satisfies the stated conditions, find sin2x, cos 2x,

sindx, cos#4x. Sketch x, 2x and #x on the unit circle.
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sinx = ~3/5; v ¢x<3Wm2
cosx = 12/13; -MW2<x<O
sinx = 12/13; W2 <x<wW
cosx = =3/5; W< x <=T/2

Ange 8) cosfx = - /0.10
c) singx = +3/13

Simplify the expression, so that no. trig functions or their inverses appear,

sin ( Arc cos x)
Ang. b) 2/x

cos ( Arc sec #x) 3 1 2x2/9

sin( 2Arc sinx) [double angle)
cos ( 2Are uinf )



b)
e)
d)

6
a)
b)
c)
d)
o)

Pind all solutions x, for O & x < 2w,

2ginx » =}

Zcoazx =1

Ange b) x= %ﬂv %‘rv {-ﬂ't %ﬂ'

cosx = cos2x d) x= 0 %77.‘“. 91’7 ('inl/-aina

ainx = -sin2x A

sinx = cos2x

Graph y = Arcsinx and y = Arccosx. On each graph plot the points where

X = =]
x = f3/2
y Ange d) Arcsin0.79 = 0.91rad
X m=1/2
6) Arccos=0¢62 = 2,2, red
X = 0079
X = -0062

\ 4

(u2+v2 -1)

Yy = Arcsinx ¥y = Arccosx
= the arc between -4W and 3T = the arc between 0 and T
whose sine is x. whose cosine is x.
Arcsin(=x) = «Arcsinx Arccos (=x) = W = Arecosx

In each case, -1¢€ x € 1; and Y is measured in radians.



